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分数・小数の混合計算 

  年   組 
 
名前 
 

１ 次の計算をしましょう。 

① 0.4
７

１
－ ＝

４

１０
− １

７
 

＝
２

５
− １

７
 

＝
１４

３５
− ５

３５
 

＝
９

３５
 

 

② ２
１

５
－0.2＝２

１

５
− ２

１０
 

＝２
１

５
− １

５
 

＝２ 

小数にそろえる方法 

－
５

１
２ 0.2＝2.2－0.2 

＝２ 

 

③  ＋
５

４
1.3＝

４

５
＋

１３

１０
 

＝
８

１０
＋

１３

１０
 

＝
２１

１０
 

小数にそろえる方法 

＋
５

４
1.3＝0.8＋1.3＝2.1 

 

④ １２

１３
×0.7÷

２１

２６
＝

１２

１３
× ７

１０
÷ ２１

２６
 

＝
１２

１３
× ７

１０
× ２６

２１
 

＝
４

５
 

 

取り組んだ日   月   日 

 

⑤ 4.2÷
５

８
×

２０

２１
＝

４２

１０
÷ ５

８
× ２０

２１
 

＝
２１

５
× ８

５
× ２０

２１
 

＝
３２

５
 

 

⑥ ８
１

３
÷1.5×2.1＝

２５

３
÷ １５

１０
× ２１

１０
 

＝
２５

３
× ２

３
× ２１

１０
 

＝
３５

３
 

 

⑦ 
１６

３３
×2.4÷

８

１１
＝

１６

３３
× ２４

１０
÷ ８

１１
 

＝
１６

３３
× １２

５
× １１

８
 

＝
８

５
 

 

⑧ 2.6÷4.5×
３０

１３
＝

２６

１０
÷ ４５

１０
× ３０

１３
 

＝
１３

５
× ２

９
× ３０

１３
 

＝
４

３
 

 


